Handout Example Section 4.3 Method of Successive Squares
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Solution: We first not that the exponent 
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k

. We first determine the powers of 2 that are less than this exponent. Starting with an exponent of 0, we see that
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We can stop at 
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 We now decompose the exponent k into powers of 2.
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We next write
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We next compute the needed powers of 7 needed with respect to the modulus 41. The ones that we will need are indicated by       . Note that arrows are used to indicate the substitutions from the previous step.
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Hence,
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_1132404065.unknown

_1132404289.unknown

_1132404410.unknown

_1132407076.unknown

_1132407240.unknown

_1132404352.unknown

_1132404079.unknown

_1132404100.unknown

_1132404107.unknown

_1132404112.unknown

_1132404094.unknown

_1132404072.unknown

_1132404031.unknown

_1132404053.unknown

_1132404060.unknown

_1132404041.unknown

_1132404047.unknown

_1132404036.unknown

_1132404020.unknown

_1132404026.unknown

_1132404015.unknown

